## OPEN ACCESS

EDITED BY
Xiangpeng Xin, Liaocheng University, China

## REVIEWED BY

Yongshuai Zhang,
Zhejiang University of Science and
Technology, China
Biao Li,
Ningbo University, China

## *CORRESPONDENCE

Bo Ren,
® renbosemail@163.com
received 10 June 2023
ACCEPTED 15 June 2023
PUBLISHED 03 July 2023

## CITATION

Lyu J, Shi K, Ren B and Jin Y (2023), New symmetry reduction method for (1+1)dimensional differential-
difference equations.
Front. Phys. 11:1237805
doi: 10.3389/fphy.2023.1237805

## COPYRIGHT

© 2023 Lyu, Shi, Ren and Jin. This is an open-access article distributed under the terms of the Creative Commons Attribution License (CC BY). The use, distribution or reproduction in other forums is permitted, provided the original author(s) and the copyright owner(s) are credited and that the original publication in this journal is cited, in accordance with accepted academic practice. No use, distribution or reproduction is permitted which does not comply with these terms

# New symmetry reduction method for (1+1)-dimensional differential-difference equations 

Jielin Lyu ${ }^{1}$, Kaizhong Shi ${ }^{2}$, Bo Ren ${ }^{2 *}$ and Yongyang Jin ${ }^{2}$<br>${ }^{1}$ School of Continuing Education, Zhejiang Business College, Hangzhou, China, ${ }^{2}$ Department of Applied Mathematics, Zhejiang University of Technology, Hangzhou, China


#### Abstract

We propose a new symmetry reduction method for (1+1)-dimensional differential-difference equations (DDEs), namely, the $\lambda$-symmetry reduction method of solving ordinary differential equations is generalized to DDEs. Order-reduction processes are a consequence of the invariance of the given DDE under vector fields of the new class. These vector fields satisfy a new prolongation formula. A simple example of order-reduction is provided to illustrate the application.


KEYWORDS
$\lambda$-symmetry, differential-difference equation, order-reduction, vector field, reduction method

## 1 Introduction

Symmetry is closely related to the integrability of the nonlinear evolution equations (NLEEs) in various specific meanings. For example, the existence of infinite Lie-Bäcklund symmetry is a criterion for the integrability of NLEEs, so the study of symmetry of NLEEs is particularly important. The symmetry of the NLEEs is studied systematically by Lie point symmetry theory [1-3]. Although the Lie point symmetry method has relatively mature theories, it also has great limitations [1-10]. When a given NLEE does not allow enough nontrivial Lie point symmetries, this method cannot be applied. Therefore, it is necessary to extend the classical Lie point symmetry concept from various angles [11-20]. For example, if the infinitesimal also depends on the higher derivative, the corresponding Lie-Bäcklund symmetry is obtained [21,22].

The concept of $\lambda$-symmetry proposed by Muriel and Romero [23], aims to show that many of the known order-reduction processes can be explained by the invariance of the equation under some special vector fields that are neither Lie symmetries nor Lie-Bäcklund symmetries. The $\lambda$-symmetry reduction method for ordinary differential equations (ODEs) has attracted the attention of more and more scientists [24]. For example, Levi and Rodriguez successfully extended this method to the case of difference equations [25]. Again, the $\mu$ symmetry reduction method is used to deal with partial differential equations (PDEs) [26-30].

For the sake of readability, we will briefly introduce the $\lambda$-symmetry reduction method for ODEs in Section 2. Then we extend the $\lambda$-symmetry reduction method to the case of $(1+1)$-dimensional differential-difference equations (DDEs) in Section 3. The last section is devoted to conclusions and discussions.

## 2 The $\lambda$-symmetry reduction method of ODEs

In this section we briefly review the $\lambda$-symmetry reduction method of ODEs. For a given $m$ th-order ODE

$$
\begin{equation*}
\Delta_{1} \equiv \Delta\left(x, u^{(0)}, u^{(1)}, \ldots, u^{(m)}\right)=0 \tag{1}
\end{equation*}
$$

we can set a vector field

$$
\begin{equation*}
v=X(x, u) \frac{\partial}{\partial x}+U(x, u) \frac{\partial}{\partial u}, \tag{2}
\end{equation*}
$$

where $u^{(i)}=\frac{\mathrm{d}^{i} u(x)}{\mathrm{d} x^{i}}, \quad(i=0,1, \ldots, m)$ means the $i$ th-order derivative with respect to the independent variable $x$. Thus we can construct high-order infinitesimal prolongation vector field

$$
\begin{equation*}
v^{[(m)]}=v+\sum_{i=1}^{m} U^{[(i)]} \frac{\partial}{\partial u^{(i)}}, \tag{3}
\end{equation*}
$$

where

$$
\begin{align*}
U^{[(0)]} & =U, \\
U^{[(i+1)]} & =D_{x} U^{[(i)]}-u^{(i+1)} D_{x} X, \quad i=0,1, \ldots, m . \tag{4}
\end{align*}
$$

Here $D_{x}$ means the total derivative with respect to $x$. So the invariance of Eq. 1 needs

$$
\begin{equation*}
\left.v^{[(m)]}\left(\Delta_{1}\right)\right|_{\Delta_{1}=0}=0 . \tag{5}
\end{equation*}
$$

Solving this equation, the expressions for $X$ and $U$ can be derived. For complex high-order ODEs or systems, we need to use symbolic computing software to calculate $X$ and $U$. Theoretically, all of the similarity variables be derived by solving the following characteristic equation

$$
\begin{equation*}
\frac{\mathrm{d} x}{X}=\frac{\mathrm{d} u}{U} \tag{6}
\end{equation*}
$$

and then we can reduce and solve Eq. 1.
The above method is the Lie point symmetry method, also known as the classical symmetry reduction method. In Ref. [23], authors have introduced a new class of symmetries, that strictly includes Lie point symmetries, for which there exists an algorithm that lets us reduce the order of a given ODE. This method is now called the $\lambda$-symmetry reduction method. The key step of this generalized method is that the infinitesimal prolongation is modified to the following form

$$
\begin{align*}
& U^{[\lambda,(i)]}\left(x, u^{(i)}\right)=D_{x}\left(U^{[\lambda,(i-1)]}\left(x, u^{(i-1)}\right)\right)-D_{x}(X(x, u)) u^{(i)}  \tag{7}\\
&+\lambda\left(U^{[\lambda,(i-1)]}\left(x, u^{(i-1)}\right)-X(x, u) u^{(i)}\right)
\end{align*}
$$

where $\lambda$ is a smooth function that is determined simultaneously with the coefficients of the infinitesimal generators $X$ and $U$. Thus the infinitesimal prolongation vector field is modified to

$$
\begin{equation*}
v^{[\lambda,(m)]}=X(x, u) \frac{\partial}{\partial x}+\sum_{i=0}^{m} U^{[\lambda,(i)]}\left(x, u^{(i)}\right) \frac{\partial}{\partial u^{(i)}} \tag{8}
\end{equation*}
$$

The following theorem that is important for the $\lambda$-symmetry reduction method, which is first obtained by Muriel and Romero [23].

Theorem 1. (Muriel, Romero [23]). Let us suppose that, for some smooth functions $\lambda$, the vector field $v$ is a $\lambda$-symmetry of the following ODE

$$
\begin{equation*}
u^{(m)}=F\left(x, u^{(0)}, u^{(1)}, \ldots, u^{(m-1)}\right) . \tag{9}
\end{equation*}
$$

Then

$$
\begin{equation*}
\left[v^{[\lambda,(m-1)]}, A\right]=\lambda \cdot v^{[\lambda,(m-1)]}+\mu \cdot A, \tag{10}
\end{equation*}
$$

for some smooth functions $\mu$. Here $A$ is the vector field of Eq. 9,

$$
\begin{equation*}
A=\frac{\partial}{\partial x}+u^{(1)} \frac{\partial}{\partial u}+\cdots+F\left(x, u^{(0)}, u^{(1)}, \ldots, u^{(m-1)}\right) \frac{\partial}{\partial u^{(m-1)}} . \tag{11}
\end{equation*}
$$

Conversely, if

$$
\begin{equation*}
K=X(x, u) \frac{\partial}{\partial x}+U^{(0)}(x, u) \frac{\partial}{\partial u}+\sum_{i=1}^{m-1} U^{(i)}\left(x, u^{(i)}\right) \frac{\partial}{\partial u_{i}}, \tag{12}
\end{equation*}
$$

is a vector field such that

$$
\begin{equation*}
[K, A]=\lambda \cdot K+\mu \cdot A, \tag{13}
\end{equation*}
$$

for some smooth functions $\lambda, \mu$, then the vector field

$$
\begin{equation*}
v=X(x, u) \frac{\partial}{\partial x}+U^{(0)}(x, u) \frac{\partial}{\partial u}, \tag{14}
\end{equation*}
$$

is a $\lambda$-symmetry of Eq. 9 and $K=v^{[\lambda,(m-1)]}$.

## 3 The $\lambda$-symmetry reduction method of DDEs

In this section, we extend the $\lambda$-symmetry reduction method to the case of $(1+1)$-dimensional DDEs.

Definition 1. For the following ( $1+1$ )-dimensional DDE with a discrete variable $n$ and a continuous variable $x$,

$$
\begin{equation*}
\Delta_{2} \equiv \Delta\left(x, u_{n-1}^{(0)}, u_{n}^{(0)}, u_{n+1}^{(0)}, \ldots, u_{n-1}^{(m)}, u_{n}^{(m)}, u_{n+1}^{(m)}\right)=0 \tag{15}
\end{equation*}
$$

where $u_{n}^{(i)}=\frac{d^{i} u_{n}(x)}{d x^{i}}$, the vector field

$$
\begin{aligned}
v= & X\left(x, u_{n}\right) \frac{\partial}{\partial x}+U_{n-1}\left(x, u_{n-1}\right) \frac{\partial}{\partial u_{n-1}}+U_{n}\left(x, u_{n}\right) \frac{\partial}{\partial u_{n}} \\
& +U_{n+1}\left(x, u_{n+1}\right) \frac{\partial}{\partial u_{n+1}}
\end{aligned}
$$

is said to be $\lambda$-symmetry for this equation if there exists a differential function $\lambda$ such that the mth $\lambda$-prolongation of the vector field satisfies.

$$
\begin{equation*}
\left.v^{\left[\lambda_{1}(m)\right]}\left(\Delta_{2}\right)\right|_{\Delta_{2}=0}=0 . \tag{16}
\end{equation*}
$$

Particularly, for the following ( $1+1$ )-dimensional DDE

$$
\begin{equation*}
u_{n}^{(m)}=F_{n}\left(x, u_{n-1}^{(m-1)}, u_{n}^{(m-1)}, u_{n+1}^{(m-1)}\right), \tag{17}
\end{equation*}
$$

we can set a vector field

$$
\begin{align*}
A= & \frac{d}{d x}+\sum_{n=-1}^{1} u_{n+k}^{(1)} \frac{d}{d u_{n+k}}+\cdots \\
& +\sum_{k=-1}^{1} F_{n+k}\left(\lambda, u_{n+k-1}^{(m-1)}, u_{n+k}^{(m-1)}, u_{n+k+1}^{(m-1)}\right) \frac{\partial}{u_{n+k}^{(m-1)}} . \tag{18}
\end{align*}
$$

Here $\quad F_{n}\left(x, u_{n-1}^{(m-1)}, u_{n}^{(m-1)}, u_{n+1}^{(m-1)}\right)=$ $F_{n}\left(x, u_{n-1}^{(0)}, u_{n}^{(0)}, u_{n+1}^{(0)}, \ldots, u_{n-1}^{(m-1)}, u_{n}^{(m-1)}, u_{n+1}^{(m-1)}\right)$ is for ease of writing. So we have Theorem 2.

Theorem 2. Let us suppose that, for some differential functions $\lambda$, the vector field $v$ is a $\lambda$-symmetry of the following $D D E$

$$
\begin{equation*}
u_{n}^{(m)}=F_{n}\left(x, u_{n-1}^{(m-1)}, u_{n}^{(m-1)}, u_{n+1}^{(m-1)}\right), \tag{19}
\end{equation*}
$$

Then

$$
\begin{equation*}
\left[v^{[\lambda,(m-1)]}, A\right]=\lambda \cdot v^{[\lambda,(m-1)]}+\mu \cdot A \tag{20}
\end{equation*}
$$

for some differential functions $\mu$. Here $A$ is the vector field of Eq. 19,

$$
\begin{align*}
A= & \frac{d}{d x}+\sum_{n=-1}^{1} u_{n+k}^{(1)} \frac{d}{d u_{n+k}}+\cdots \\
& +\sum_{k=-1}^{1} F_{n+k}\left(\lambda, u_{n+k-1}^{(m-1)}, u_{n+k}^{(m-1)}, u_{n+k+1}^{(m-1)}\right) \frac{\partial}{u_{n+k}^{(m-1)}} . \tag{21}
\end{align*}
$$

Conversely, if

$$
\begin{equation*}
K=X\left(x, u_{n}\right) \frac{\partial}{\partial x}+\sum_{k=-1}^{1} \sum_{i=0}^{m-1} U_{n+k}^{(i)}\left(x, u_{n+k}^{(i)}\right) \frac{\partial}{\partial u_{n+k}^{(i)}} \tag{22}
\end{equation*}
$$

is a vector field such that

$$
\begin{equation*}
[K, A]=\lambda \cdot K+\mu \cdot A, \tag{23}
\end{equation*}
$$

for some differential functions $\lambda$ and $\mu$, then the vector field

$$
\begin{align*}
v= & X(x, u) \frac{\partial}{\partial x}+U_{n-1}^{(0)}(x, u) \frac{\partial}{\partial u_{n-1}}+U_{n}^{(0)}(x, u) \frac{\partial}{\partial u_{n}} \\
& +U_{n+1}^{(0)}(x, u) \frac{\partial}{\partial u_{n+1}} \tag{24}
\end{align*}
$$

is a $\lambda$-symmetry of Eq. 19 and $K=v^{[\lambda,(m-1)]}$.
Proof. Compute $\left[v^{[\lambda,(m-1)]}\right.$, A] as a function of $\left\{x, u_{n-1}, u_{n}, u_{n+1}, \ldots, u_{n-1}^{(m-1)}, u_{n}^{(m-1)}, u_{n+1}^{(m-1)}\right\}$ at each lattice point, with

$$
\begin{align*}
& {\left[v^{[\lambda,(m-1)]}, A\right](x)=}-A(X(x)), \\
& {\left[v^{[\lambda,(m-1)]}, A\right]\left(u_{n+k}\right)=} U_{n+k}^{[\lambda,(1)]}\left(x, u_{n+k}^{(1)}\right)-A\left(U_{n+k}^{[\lambda,(0)]}\left(x, u_{n+k}\right)\right) \\
&=-A(X(x)) u_{n+k}^{(1)}+\lambda\left(U_{n+k}^{[\lambda,(0)]}\left(x, u_{n+k}\right)-X(x) u_{n+k}^{(1)}\right), \\
& {\left[v^{[\lambda,(m-1)]}, A\right]\left(u_{n+k}^{(1)}\right)=} U_{n+k}^{[\lambda,(2)]}\left(x, u_{n+k}^{(2)}\right)-A\left(U_{n+k}^{[\lambda(1)]}\left(x, u_{n+k}^{(1)}\right)\right) \\
&=-A(X(x)) u_{n+k}^{(2)}+\lambda\left(U_{n+k}^{[\lambda,(1)]}\left(x, u_{n+k}^{(1)}\right)-X(x) u_{n+k}^{(2)}\right), \\
& \vdots \\
& {\left[v^{[\lambda,(m-1)]}, A\right]\left(u_{n+k}^{(i)}\right)=} U_{n+k}^{[\lambda,(i+1)]}\left(x, u_{n+k}^{(i+1)}\right)-A\left(U_{n+k}^{[\lambda,(i)]}\left(x, u_{n+k}^{(i)}\right)\right) \\
&=-A(X(x)) u_{n+k}^{(i+1)}+\lambda\left(U_{n+k}^{[\lambda,(i)]}\left(x, u_{n+k}^{(i)}\right)-X(x) u_{n+k}^{(i+1)}\right),  \tag{25}\\
& \vdots \\
& {\left[v^{[\lambda,(m-1)]}, A\right]\left(u_{n+k}^{(m-1)}\right)=} v^{[\lambda,(m-1)]}\left(F_{n+k}\left(\lambda, u_{n+k-1}^{(m-1)}, u_{n+k}^{(m-1)}, u_{n+k+1}^{(m-1)}\right)\right) \\
&-A\left(U_{n+k}^{[\lambda,(n-1)]}\left(x, u_{n+k}^{(m-1)}\right)\right),
\end{align*}
$$

and

$$
\begin{align*}
v^{[\lambda,(m)]}\left(u_{n+k}^{(m)}\right)= & D_{x}\left(U_{n+k}^{[\lambda,(m-1)]}\left(x, u_{n+k}^{(m-1)}\right)\right)-D_{x}(X(x)) u_{n+k}^{(m)}  \tag{26}\\
& +\lambda\left(U_{n+k}^{[\lambda,(m-1)]}\left(x, u_{n+k}^{(m-1)}\right)\right)-\lambda(X(x)) u_{n+k}^{(m)} .
\end{align*}
$$

Since $v$ is a $\lambda$-symmetry,

$$
\begin{align*}
& v^{[\lambda,(m-1)]}\left(F_{n+k}\left(\lambda, u_{n+k-1}^{(m-1)}, u_{n+k}^{(m-1)}, u_{n+k+1}^{(m-1)}\right)\right)=A\left(U_{n+k}^{[\lambda,(m-1)]}\left(x, u_{n+k}^{(m-1)}\right)\right) \\
& \quad-A(X(x)) u_{n+k}^{(m)}+\lambda\left(U_{n+k}^{[\lambda,(m-1)]}\left(x, u_{n+k}^{(m-1)}\right)\right)-\lambda(X(x)) u_{n+k}^{(m)} . \tag{27}
\end{align*}
$$

Hence, if $u_{n}^{(m)}=F_{n}\left(x, u_{n-1}^{(m-1)}, u_{n}^{(m-1)}, u_{n+1}^{(m-1)}\right)$, Eq. 26 says that
$[\lambda,(m-1)]\left(F_{n+k}\left(\lambda, u_{n+k-1}^{(m-1)}, u_{n+k}^{(m-1)}, u_{n+k+1}^{(m-1)}\right)\right)=A\left(U_{n+k}^{[\lambda,(m-1)]}\left(x, u_{n+k}^{(m-1)}\right)\right)$ $-A(X(x)) u_{n+k}^{(m)}+\lambda\left(U_{n+k}^{[\lambda,(m-1)]}\left(x, u_{n+k}^{(m-1)}\right)\right)-\lambda(X(x)) u_{n+k}^{(m)}$.

If we set $\mu=-A(X(x))-\lambda X(x)$, then we can write

$$
\begin{align*}
& {\left[v^{[\lambda,(m-1)]}, A\right](x) }=\lambda X(x)+\mu, \\
& {\left[v^{[\lambda,(m-1)]}, A\right]\left(u_{n+k}\right) }=\lambda U_{n+k}^{[\lambda,(0)]}\left(x, u_{n+k}\right)+\mu u_{n+k}^{(1)},  \tag{29}\\
& {\left[v^{[\lambda,(m-1)]}, A\right]\left(u_{n+k}^{(1)}\right) }=\lambda U_{n+k}^{[\lambda,(1)]}\left(x, u_{n+k}^{(1)}\right)+\mu u_{n+k}^{(2)}, \\
& \vdots \\
& {\left[v^{[\lambda,(m-1)]}, A\right]\left(u_{n+k}^{(i)}\right) }=\lambda U_{n+k}^{[\lambda,(i)]}\left(x, u_{n+k}^{(i)}\right)+\mu u_{n+k}^{(i+1)}, \\
& \vdots \\
& {\left[v^{[\lambda,(m-1)]}, A\right]\left(u_{n+k}^{(m-1)}\right) }=\lambda U_{n+k}^{[\lambda,(m-1)]}\left(x, u_{n+k}^{(m-1)}\right)+\mu u_{n+k}^{(m)}
\end{align*}
$$

Therefore, we conclude that $\left[v^{[\lambda,(m-1)]}, A\right]=\lambda \cdot v^{[\lambda,(m-1)]}+\mu \cdot A$. The vector field

$$
\begin{equation*}
K=X\left(x, u_{n}\right) \frac{\partial}{\partial x}+\sum_{k=-1}^{1} \sum_{i=0}^{m-1} U_{n+k}^{(i)}\left(x, u_{n+k}^{(i)}\right) \frac{\partial}{\partial u_{n+k}^{(i)}} \tag{30}
\end{equation*}
$$

depends on three lattice points with $n-1, n$ and $n+1$. If we apply both elements of this equation to each coordinate function, we obtain

$$
\begin{equation*}
\mu=-A(X(x, u))-\lambda X(x, u) \tag{31}
\end{equation*}
$$

and, for $0 \leq i \leq m-2$, the coordinate $U_{n+k}^{(\mathrm{i})}\left(x, u_{n+k}^{(\mathrm{i})}\right)$ of K must satisfy

$$
\begin{align*}
U_{n+k}^{[\lambda,(i+1)]}\left(x, u_{n+k}^{(i+1)}\right)= & D_{x}\left(U_{n+k}^{[\lambda,(i)]}\left(x, u_{n+k}^{(i)}\right)\right)-D_{x}(X(x)) u_{n+k}^{(i+1)}  \tag{32}\\
& +\lambda\left(U_{n+k}^{[\lambda,(i)]}\left(x, u_{n+k}^{(i)}\right)\right)-\lambda(X(x)) u_{n+k}^{(i+1)}
\end{align*}
$$

Hence

$$
\begin{equation*}
K=v^{[\lambda,(m-1)]} \tag{33}
\end{equation*}
$$

Then we apply both elements of $[K, A]=\lambda K+\mu A$, to the coordinate function $u_{n-1}^{(m-1)}, u_{n}^{(m-1)}$ and $u_{n+1}^{(m-1)}$, we obtain

$$
\begin{align*}
{[K, A]\left(u_{n+k}^{(m-1)}\right)=} & K\left(F_{n+k}\left(\lambda, u_{n+k-1}^{(m-1)}, u_{n+k}^{(m-1)}, u_{n+k+1}^{(m-1)}\right)\right)-A\left(U_{n}^{[\lambda,(m-1)]}\left(x, u_{n+k}^{(m-1)}\right)\right) \\
= & \lambda U_{n+k}^{[\lambda-1)]}\left(x, u_{n+k}^{(m-1)}\right) \\
& -(A(X(x))+\lambda X(x)) \cdot\left(F_{n+k}\left(\lambda, u_{n+k-1}^{(m-1)}, u_{n+k}^{(m-1)}, u_{n+k+1}^{(m-1)}\right)\right), \tag{34}
\end{align*}
$$

where $k=-1,0,1$. The above equation yields

$$
\begin{align*}
& K\left(F_{n+k}\left(\lambda, u_{n+k-1}^{(m-1)}, u_{n+k}^{(m-1)}, u_{n+k+1}^{(m-1)}\right)\right) \\
& =A\left(U_{n+k}^{[\lambda,(m-1)]}\left(x, u_{n+k}^{(m-1)}\right)\right)+\lambda U_{n+k}^{[\lambda,(m-1)]}\left(x, u_{n+k}^{(m-1)}\right)  \tag{35}\\
& \quad-(A(X(x))+\lambda X(x)) \cdot\left(F_{n+k}\left(\lambda, u_{n+k-1}^{(m-1)}, u_{n+k}^{(m-1)}, u_{n+k+1}^{(m-1)}\right)\right) .
\end{align*}
$$

Calculate

$$
\begin{align*}
& v^{[\lambda,(m)]}\left(u_{n+k}^{(m)}-F_{n+k}\left(x, u_{n+k-1}^{(m-1)}, u_{n+k}^{(m-1)}, u_{n+k+1}^{(m-1)}\right)\right) \\
& =D_{x}\left(U_{n+k}^{[\lambda,(m-1)]}\left(x, u_{n+k}^{(m-1)}\right)\right)-D_{x}(X(x)) u_{n+k}^{(m)} \\
& \quad+\lambda\left(U_{n+k}^{[\lambda,(m-1)]}\left(x, u_{n+k}^{(m-1)}\right)-X(x) u_{n+k}^{(m)}\right) \\
& \quad-K\left(F_{n+k}^{(x)}\left(x, u_{n+k-1}^{(m-1)}, u_{n+k}^{(m-1)}, u_{n+k+1}^{(m-1)}\right)\right) \tag{36}
\end{align*}
$$

when $u_{n}^{(m)}=F_{n}\left(x, u_{n-1}^{(m-1)}, u_{n}^{(m-1)}, u_{n+1}^{(m-1)}\right)$, we obtain, by Eq. 35 , that

$$
\begin{align*}
& v^{[\lambda,(m)]}\left(\Delta\left(x, u_{n-1}^{(0)}, u_{n}^{(0)}, u_{n+1}^{(0)}, \ldots, u_{n-1}^{(m)}, u_{n}^{(m)}, u_{n+1}^{(m)}\right)\right)=0  \tag{37}\\
& \quad \text { when } \quad u_{n+k}^{(m)}=F_{n+k}\left(\lambda, u_{n+k-1}^{(m-1)}, u_{n+k}^{(m-1)}, u_{n+k+1}^{(m-1)}\right) .
\end{align*}
$$

Therefore $v$ is a $\lambda$-symmetry of Eq. 19 .
In order to reduce the $m$ th-order DDEs to $(m-1)$ th-order DDEs and first-order DDEs, we can determine invariants for the $\lambda$-prolongation of $v$ by deriving invariants of lower order. This can be achieved through the application of the main tools, Theorem 2.

Theorem 3. Let $v$ be a vector field defined on $M$ and let $\lambda$ is a differential function, If

$$
\begin{equation*}
\alpha=\alpha\left(x, u_{n-1}^{(k)}, u_{n}^{(k)}, u_{n+1}^{(k)}\right), \quad \beta=\beta\left(x, u_{n-1}^{(k)}, u_{n}^{(k)}, u_{n+1}^{(k)}\right), \tag{38}
\end{equation*}
$$

are such that

$$
\begin{equation*}
v^{[\lambda,(k)]}\left(\alpha\left(x, u_{n-1}^{(k)}, u_{n}^{(k)}, u_{n+1}^{(k)}\right)\right)=v^{[\lambda,(k)]}\left(\beta\left(x, u_{n-1}^{(k)}, u_{n}^{(k)}, u_{n+1}^{(k)}\right)\right)=0 \tag{39}
\end{equation*}
$$

then

$$
\begin{equation*}
v^{[\lambda,(k+1)]}\left(\frac{D_{x} \alpha\left(x, u_{n-1}^{(k)}, u_{n}^{(k)}, u_{n+1}^{(k)}\right)}{D_{x} \beta\left(x, u_{n-1}^{(k)}, u_{n}^{(k)}, u_{n+1}^{(k)}\right)}\right)=0 . \tag{40}
\end{equation*}
$$

Proof 3. By Theorem 2, we have

$$
\begin{equation*}
\left[v^{[\lambda,(k+1)]}, D_{x}\right]=\lambda v^{[\lambda,(k+1)]}+\mu D_{x}, \tag{41}
\end{equation*}
$$

where $\mu=-D_{x}(v(x))-\lambda v(x)$. Therefore,

$$
\begin{align*}
v^{[\lambda,(k+1)]}\left(\frac{D_{x} \alpha}{D_{x} \beta}\right) & =\frac{1}{\left(D_{x} \beta\right)^{2}}\left(D_{x} \beta \cdot v^{[\lambda,(k+1)]}\left(D_{x} \alpha\right)-D_{x} \alpha \cdot v^{[\lambda,(k+1)]}\left(D_{x} \beta\right)\right) \\
& =\frac{1}{\left(D_{x} \beta\right)^{2}}\left(D_{x} \beta \cdot\left[v^{[\lambda,(k+1)]}, D_{x}\right](\alpha)-D_{x} \alpha \cdot\left[v^{[\lambda,(k+1)]}, D_{x}\right](\beta)\right) \\
& =\frac{1}{\left(D_{x} \beta\right)^{2}}\left(D_{x} \beta \cdot\left(\mu \cdot D_{x} \alpha\right)-D_{x} \alpha \cdot\left(\mu \cdot D_{x} \beta\right)\right)=0 . \tag{42}
\end{align*}
$$

Proposition 1. Let $v$ be a $\lambda$-symmetry. Let

$$
\begin{aligned}
y & =y\left(x, u_{n-1}, u_{n}, u_{n+1}\right) \quad \text { and } \quad w \\
& =w\left(x, u_{n-1}, u_{n}, u_{n+1}, u_{n-1}^{(1)}, u_{n}^{(1)}, u_{n+1}^{(1)}\right)
\end{aligned}
$$

be two functionally independent first-order invariants of $v^{[\lambda,(m)]}$. By solving an equation of $\Delta_{r}\left(y, w^{(m-1)}\right)=0$ and an auxiliary equation $w=w\left(x, u_{n-1}, u_{n}, u_{n+1}, u_{n-1}^{(1)}, u_{n}^{(1)}, u_{n+1}^{(1)}\right)$, the general solution of the equation can be obtained.

With the help of independent first-order invariant, we demonstrate a simple application of $\lambda$-symmetry. Considering a (1+1)-dimensional DDE

$$
\begin{equation*}
u_{n}^{(2)}=\left[\left(x+x^{2}\right) e^{u_{n+1}}\right]_{x}, \tag{43}
\end{equation*}
$$

Eq. 43 has the from

$$
\begin{equation*}
u_{n}^{(2)}=D_{x}\left(F_{n}\left(x, u_{n+1}\right)\right), \tag{44}
\end{equation*}
$$

which admits the obvious order reduction

$$
\begin{equation*}
u_{n}^{(1)}=F_{n}\left(x, u_{n+1}\right)+C, \quad C \in \mathbb{R} . \tag{45}
\end{equation*}
$$

Letting $X(x)=0, U_{n-1}\left(x, u_{n-1}\right)=1, U_{n}\left(x, u_{n}\right)=1, U_{n+1}\left(x, u_{n+1}\right)=$ 1 and $\lambda=F_{n, u_{n+1}}\left(x, u_{n+1}\right)$, we have the following $\lambda$-prolongation vector field

$$
\begin{align*}
v^{[\lambda,(2)]}= & \frac{\partial}{\partial u_{n-1}}+\frac{\partial}{\partial u_{n}}+\frac{\partial}{\partial u_{n+1}}+F_{n, u_{n+1}}\left(\frac{\partial}{\partial u_{n-1}^{(1)}}+\frac{\partial}{\partial u_{n}^{(1)}}+\frac{\partial}{\partial u_{n+1}^{(1)}}\right) \\
& +\left(F_{n, u_{n+1}}^{2}+u_{n+1}^{(1)} F_{n, u_{n+1} u_{n+1}}+F_{n, x u_{n+1}}\right)\left(\frac{\partial}{\partial u_{n-1}^{(2)}}+\frac{\partial}{\partial u_{n}^{(2)}}+\frac{\partial}{\partial u_{n+1}^{(2)}}\right), \tag{46}
\end{align*}
$$

We can easily prove that the vector field $v$ is the $\lambda$-symmetry of Eq. 43. The $\lambda$-symmetry generator has two obvious invariants $z=x$, $w=u_{n}^{(1)}-F_{n}\left(x, u_{n+1}\right)$. Furthermore, the differential invariant $w_{z}=\frac{D_{x} w}{D_{x} Z}=u_{n}^{(2)}-D_{x}\left(F_{n}\left(x, u_{n+1}\right)\right)$. Therefore, Eq. 43 can be reduced to Eq. 45.

## 4 Conclusion

$\lambda$-symmetry reduction method is useful in establishing effective alternative methods analyze ODEs without using Lie point symmetries. At present, there is no programmatic algorithm package to solve $\lambda$-symmetry directly. Therefore, it is difficult to determine the general form of $\lambda$.

There are many examples of DDEs, without Lie point symmetries, that can be completely integrated. So we have to study the reduction of these DDEs. In this paper, we have extended the $\lambda$-symmetry reduction method to the case of (1+1)-dimensional DDEs. We have obtained some theorems Theorem 2, 3 and Proposition 1 which can be used to reduce and solve DDEs in Section 3. By comparison, DDEs can be more complex. Here we have just listed a simple example to illustrate the method. How to combine the integrating factor method and the $\lambda$-symmetry reduction method of DDEs to construct more effective examples will be the next work.

## Data availability statement

The raw data supporting the conclusion of this article will be made available by the authors, without undue reservation.

## Author contributions

JL: Methodology, software, formal analysis, writing-original draft. KS: Investigation, formal analysis, writing-original draft. BR: software, formal analysis. YJ: Conceptualization, funding acquisition, resources, supervision, writing-review and editing. All authors contributed to the article and approved the submitted version.

## Acknowledgments

The authors thank Prof. S.F. Shen for their helpful discussions.

## Conflict of interest

The authors declare that the research was conducted in the absence of any commercial or financial relationships that could be construed as a potential conflict of interest.

## Publisher's note

All claims expressed in this article are solely those of the authors and do not necessarily represent those of their affiliated
organizations, or those of the publisher, the editors and the reviewers. Any product that may be evaluated in this article, or claim that may be made by its manufacturer, is not guaranteed or endorsed by the publisher.

## References

1. Li B, Ye WC, Chen Y. Symmetry, full symmetry groups, and some exact solutions to a generalized Davey-Stewartson system. J Math Phys (2008) 49:103503. doi:10.1063/1. 2993975
2. Cheng WG, Li B, Chen Y. Nonlocal symmetry and exact solutions of the ( $2+1$ )dimensional breaking soliton equation. Commun Nonlinear Sci Numer Simul (2015) 29: 198-207. doi:10.1016/j.cnsns.2015.05.007
3. Rahioui M, El Kinani EH, Ouhadan A. Lie symmetry analysis and conservation laws for the time fractional generalized advection-diffusion equation. Comput Appl Math (2023) 42:50. doi:10.1007/s40314-023-02186-0
4. Olver PJ. Applications of Lie groups to diferential equations. New York, NY: Springer-Verlag (1986).
5. Bluman GW, Kumei S. Symmetries and diferential equations. New York, NY: Springer-Verlag (1989).
6. Anderson IM, Fels ME, Torre CG. Group invariant solutions without transversality. Commun Math Phys (2000) 212:653-86. doi:10.1007/s002200000215
7. Eastwood M. Higher symmetries of the laplacian. Ann Math (2005) 161:1645-65. doi:10.4007/annals.2005.161.1645
8. Zhdanov RZ, Lahno VI. Group classification of heat conductivity equations with a nonlinear source. J Phys A: Math Gen (1999) 32:7405-18. doi:10.1088/0305-4470/32 42/312
9. Zhdanov RZ, Lahno VI, Fushchych WI. On covariant realizations of the Euclid group. Commun Math Phys (2000) 212:535-56. doi:10.1007/s002200000222
10. Lahno VI, Zhdanov RZ. Group classification of nonlinear wave equations. J Math Phys (2005) 46:053301-3337. doi:10.1063/1.1884886
11. Molati M, Mahomed FM. A group classification of the general second-order coupled diffusion system. J Phys A: Math Theor (2010) 43:415203. doi:10.1088/17518113/43/41/415203
12. Pucci E, Saccomandi G. Contact symmetries and solutions by reduction of partial differential equations. J Phys A: Math Gen (1994) 27:177-84. doi:10.1088/0305-4470/ 27/1/011
13. Momoniat E, Mahomed FM. The existence of contact transformations for evolution-type equations. J Phys A: Math Gen (1999) 32:8721-30. doi:10.1088/03054470/32/49/312
14. Ibragimov NH, Khabirov SV. Contact transformation group classification of nonlinear wave equations. Nonlinear Dynam (2000) 22:61-71. doi:10.1023/a: 1008309626744
15. Khabirov SV. A property of the defining equations for the Lie algebra in the group classification problem for wave equations. Sib Math $J$ (2009) 50:515-32. doi:10.1007/ s11202-009-0058-8
16. Zhdanov RZ. On Lie group characterization of quasi-local symmetries of nonlinear evolution equations. J Lie Theor (2010) 20:375-92.
17. Popovych RO, Kunzinger M, Ivanova NM. Conservation laws and potential symmetries of linear parabolic equations. Acta Appl Math (2008) 100:113-85. doi:10. 1007/s10440-007-9178-y
18. Craddock M, Platen E. Symmetry group methods for fundamental solutions. J Differential Equations (2004) 207:285-302. doi:10.1016/j.jde.2004.07.026
19. Craddock M, Lennox KA. Lie group symmetries as integral transforms of fundamental solutions. J Differential Equations (2007) 232:652-74. doi:10.1016/j.jde. 2006.07.011
20. Craddock M, Lennox KA. The calculation of expectations for classes of diffusion processes by Lie symmetry methods. Ann Appl Prob (2009) 19:127-57. doi:10.1214/08aap534
21. Craddock M, Lennox KA. Lie symmetry methods for multi-dimensional parabolic PDEs and diffusions. J Differential Equations (2012) 252:56-90. doi:10.1016/j.jde.2011. 09.024
22. Craddock M. Fourier type transforms on Lie symmetry groups. J Math Phys (2015) 56:091501. doi:10.1063/1.4929653
23. Muriel C, Romero JL. New methods of reduction for ordinary differential equations. IMA J Appl Math (2001) 66:111-25. doi:10.1093/imamat/66.2.111
24. Muriel C, Romero JL. The $\lambda$-symmetry reduction method and Jacobi last multipliers[J]. Commun Nonlinear Sci Numer Simul (2014) 19:807-20. doi:10.1016/j. cnsns.2013.07.027
25. Levi D, Rodriguez MA. $\lambda$-symmetries for discrete equations. J Phys A Math Theor (2010) 43:292001-1860. doi:10.1088/1751-8113/43/29/292001
26. Cicogna G, Gaet G. Noether theorem for $\mu$-symmetries. J Phys A: Math Theor (2007) 40:11899-921. doi:10.1088/1751-8113/40/39/013
27. Gaeta GA. gauge-theoretic description of $\mu$-prolongations, and $\mu$-symmetries of differential equations. J Geom Phys (2009) 59:519-39. doi:10.1016/j.geomphys.2009. 01.004
28. Pashayi S, Shahmorad S, Hashemi MS, Inc M. Lie symmetry analysis of two dimensional weakly singular integral equations. J Geom Phys (2021) 170:104385. doi:10. 1016/j.geomphys.2021.104385
29. Servan AR, Patino MCM. Variational lambda-symmetries and exact solutions to Euler-Lagrange equations lacking standard symmetries. Math Meth Appl Sci (2022) 45: 10946-58. doi:10.1002/mma.8430
30. Pan-Collantes AJ, Ruiz A, Muriel C, Romero JL. C-infinity-symmetries of distributions and integrability. J Differential Equations (2023) 348:126-53. doi:10. 1016/j.jde.2022.11.051
